Class: Technology 7 (Yr) 2

Final Grade					•		
Reporting Ter			ge Final	Grad	e Co	mment	
Marking Period	5 F	11%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	0	5	0	ABS	
Mar 21, 2012	Classwork	March 21	0	5	0	ABS	
Mar 29, 2012	Classwork	March 29	0	5	0	ABS	
Mar 29, 2012	Project	Innovation Project	0	10	0	ABS	
Apr 02, 2012	Classwork	April 2	0	5	0	ABS	
Apr 02, 2012	Quiz	Quiz	0	5	0	ABS	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	0	5	0	ABS	
Category S Category	ummary # of Asmts	Total Points Earned	Total Points Possible	_	centa	age Le	tter Grade
Classwork	6	5	30	1	6.6%		F
Quiz	1	0	5		0%		F
Project	1	0	10		0%		F

Class: Technology 7 (Yr) 2

Final Grade							
Reporting Ter	m Letter (Grade Percenta	ge Final	Grad	le Co	mment	
Marking Period	5 C	71%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	4	5	80	В	Talking during lesson
Mar 29, 2012	Project	Innovation Project	0	10	0	ABS	
Apr 02, 2012	Classwork	April 2	5	5	100	A+	
Apr 02, 2012	Quiz	Quiz	4	5	80	В	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	4	5	80	В	Walking around during lesson
Category So Category	ummary # of Asmts	Total Points Earned	Total Points Possible		centa	age Le	tter Grade
Classwork	6	28	30	ç	3.3%		A
Quiz	1	4	5		80%		В
Project	1	0	10		0%		F

Class: Technology 7 (Yr) 2

Final Grade	•						
Reporting Te	rm Letter	Grade Percenta	ge Fina	I Grad	le Co	mment	
Marking Period	5 B	83%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	3	5	60	F	"Saijon was rude about being on YouTube"
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	4	5	80	В	Talking during lesson
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2		5		ATS	
Apr 02, 2012	Quiz	Quiz		5		ATS	
Apr 04, 2012	Classwork	April 4	4	5	80	В	
Apr 16, 2012	Classwork	April 16	3	5	60	F	Walking around during lesson Talking during lesson Asked to sit in cluster
Category S Category	ummary # of Asmts	Total Points Earned	Total Points Possible		centa	age Let	tter Grade

Category	# of Asmts	Earned	Possible	Percentage	Letter Grade
Classwork	5	19	25	76%	C+
Project	1	10	10	100%	A+

3 of 24

Class: Technology 7 (Yr) 2

Final Grade							
Reporting Ter	rm Letter (Grade Percenta	ige Final	Grad	e Co	mment	
Marking Period	5 A+	100%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	5	5	100	A+	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	5	5	100	A+	
Apr 02, 2012	Quiz	Quiz	5	5	100	A+	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	5	5	100	A+	
Category St	ummary	Total Points	Total Points	5			
Category	# of Asmts	Earned	Possible	Perc	centa	ige Lei	tter Grade
Classwork	6	30	30	1	00%		A+
Quiz	1	5	5	1	00%		A+
Project	1	10	10	1	00%		A+

890143523

4 of 24

Class: Technology 7 (Yr) 2

Final Grade Reporting Ter		Grade Percentage	e Fin	al Grade	Comment	
Marking Period	5 C	71%				
Assignmen	t Scores			Pts.		
Date	Category	Assignment	Score	Poss	% Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5 10	00 A+	
Mar 21, 2012	Classwork	March 21	5	5 10	00 A+	
Mar 29, 2012	Classwork	March 29	3	5 6	60 F	Did not complete class assignment
Mar 29, 2012	Project	Innovation Project	10	10 10	00 A+	
Apr 02, 2012	Classwork	April 2	1	5 2	20 F	Did not complete classwork Refusing to do any work Playing games on computer during class
Apr 02, 2012	Quiz	Quiz	3	5 6	60 F	
Apr 04, 2012	Classwork	April 4	2	5 4	40 F	Did not complete classwork Refusing to do any work Playing games on computer during class
Apr 16, 2012	Classwork	April 16	3	5 (60 F	Did not complete classwork Refusing to do any work Playing games on computer during class

Category S Category	ummary # of Asmts	Total Points Earned	Total Points Possible	Percentage	Letter Grade
Classwork	6	19	30	63.3%	F
Quiz	1	3	5	60%	F
Project	1	10	10	100%	A+

5 of 24

Class: Technology 7 (Yr) 2

Apr 20, 2012

Final Grade							
Reporting Ter	m Letter (Grade Percenta	ige Final	Grad	le Co	mment	
Marking Period	5 F	56%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	0	5	0	ABS	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	0	5	0	ABS	
Apr 02, 2012	Quiz	Quiz	0	5	0	ABS	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	0	5	0	ABS	
Category St	ummary	Total Points	Total Points	5			
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade
Classwork	6	15	30		50%		F
Quiz	1	0	5		0%		F
Project	1	10	10		100%		A+

* = Assignments that are exempt or do not have a due date. These assignments are not counted in the category summary.

Class: Technology 7 (Yr) 2

Final Grade	1						
Reporting Ter	m Letter (Grade Percenta	ge Final	Grad	le Co	mment	
Marking Period	5 A+	98%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	5	5	100	A+	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	5	5	100	A+	
Apr 02, 2012	Quiz	Quiz	4	5	80	В	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	5	5	100	A+	
Category Si	-	Total Points	Total Points	-		_	
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade
Classwork	6	30	30		100%		A+
Quiz	1	4	5		80%		В
Project	1	10	10		100%		A+

7 of 24

Class: Technology 7 (Yr) 2

Final Grade							
Reporting Ter	rm Letter (Grade Percenta	ge Final	Grad	le Co	mment	
Marking Period	5 A	93%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	5	5	100	A+	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	4	5	80	В	
Apr 02, 2012	Quiz	Quiz	4	5	80	В	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	4	5	80	В	Playing around with Saijon
Category S	ummary	Total Points	Total Points	5			
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade
Classwork	6	28	30	ç	3.3%		A
Quiz	1	4	5		80%		В
Project	1	10	10		100%		A+

8 of 24

Class: Technology 7 (Yr) 2

Final Grade					-		
Reporting Ter			ige Final	Grade	Commen	t	
Marking Period	5 A+	98%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss %	% Grad	e Score Comment	
Mar 19, 2012	Classwork	March 19	5	5 10	00 A+		
Mar 21, 2012	Classwork	March 21	5	5 10	00 A+		
Mar 29, 2012	Classwork	March 29	5	5 10	00 A+		
Mar 29, 2012	Project	Innovation Project	10	10 10	00 A+		
Apr 02, 2012	Classwork	April 2	4	58	80 B		
Apr 02, 2012	Quiz	Quiz	5	5 10)0 A+		
Apr 04, 2012	Classwork	April 4	5	5 10)0 A+		
Apr 16, 2012	Classwork	April 16	5	5 10	00 A+		
Category Se		Total Points	Total Points		-		
Category	# of Asmts	Earned	Possible	Perce	ntage L	Letter Grade	
Classwork	6	29	30	96.6	5%	A+	
Quiz	1	5	5	100)%	A+	
Project	1	10	10	100)%	A+	

9 of 24

Class: Technology 7 (Yr) 2

Final Grade							
Reporting Ter			ige Final	Grac	ie Co	mment	
Marking Period	5 B+	89%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	5	5	100	A+	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	5	5	100	A+	
Apr 02, 2012	Quiz	Quiz	5	5	100	A+	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	0	5	0	ABS	
Category S	ummary	Total Points	Total Points	5			
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade
Classwork	6	25	30	8	33.3%		В
Quiz	1	5	5		100%		A+
Project	1	10	10		100%		A+

10 of 24

890148305

Class: Technology 7 (Yr) 2

Teacher Name: Peter Pouliot

Final Grade

Reporting Te	Reporting Term Letter Grade Percentage Final Grade Comment												
Marking Period	Marking Period 5												
Assignment Scores Pts.													
Date	Category	Assignment	Score	Poss %	Grade	Score Comment							
Mar 19, 2012	Classwork	March 19		5	ATS								
Mar 21, 2012	Classwork	March 21		5	ATS								
Mar 29, 2012	Classwork	March 29		5	ATS								
Mar 29, 2012	Project	Innovation Project		10	ATS								
Apr 02, 2012	Classwork	April 2		5	ATS								
Apr 02, 2012	Quiz	Quiz		5	ATS								
Apr 04, 2012	Classwork	April 4		5	ATS								
Apr 16, 2012	Classwork	April 16		5	ATS								
Category S	ummary	Total Points	Total Points	5									

Category # of Asmts Earned Possible Percentage Letter Grade

Class: Technology 7 (Yr) 2

Final Grade					-		
Reporting Ter		Grade Percenta	ige Final	Grade	Con	nment	
Marking Period	5 A+	96%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	51	00	A+	
Mar 21, 2012	Classwork	March 21	5	51	00	A+	
Mar 29, 2012	Classwork	March 29	5	51	00	A+	
Mar 29, 2012	Project	Innovation Project	10	10 1	00	A+	
Apr 02, 2012	Classwork	April 2	4	5	80	В	
Apr 02, 2012	Quiz	Quiz	4	5	80	В	
Apr 04, 2012	Classwork	April 4	5	51	00	A+	
Apr 16, 2012	Classwork	April 16	5	51	00	A+	
Category St	ummary	Total Points	Total Points	5			
Category	# of Asmts	Earned	Possible	Perce	enta	ge Let	ter Grade
Classwork	6	29	30	96	.6%		Α+
Quiz	1	4	5	8	30%	I	В
Project	1	10	10	10	0%		A+

12 of 24

Class: Technology 7 (Yr) 2

Final Grade		/		-				
Reporting Ter			ige Final	Grad	le Co	mment		
Marking Period	5 A+	98%						
Assignmen	t Scores			Pts.				
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment	
Mar 19, 2012	Classwork	March 19	5	5	100	A+		
Mar 21, 2012	Classwork	March 21	5	5	100	A+		
Mar 29, 2012	Classwork	March 29	5	5	100	A+		
Mar 29, 2012	Project	Innovation Project	10	10	100	A+		
Apr 02, 2012	Classwork	April 2	5	5	100	A+		
Apr 02, 2012	Quiz	Quiz	4	5	80	В		
Apr 04, 2012	Classwork	April 4	5	5	100	A+		
Apr 16, 2012	Classwork	April 16	5	5	100	A+		
Category Su		Total Points	Total Points		_			
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade	
Classwork	6	30	30		100%		A+	
Quiz	1	4	5		80%		В	
Project	1	10	10		100%		A+	

13 of 24

Class: Technology 7 (Yr) 2

Final Grade	Final Grade Reporting Term Letter Grade Percentage Final Grade Comment										
Marking Period						innent					
Assignmen		02,0		Pts.							
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment				
Mar 19, 2012	Classwork	March 19	0	5	0	F	"Leevonson decided to do nothing all class" - Substitute				
Mar 21, 2012	Classwork	March 21	5	5	100	A+					
Mar 29, 2012	Classwork	March 29	5	5	100	A+					
Mar 29, 2012	Project	Innovation Project	10	10	100	A+					
Apr 02, 2012	Classwork	April 2	5	5	100	A+					
Apr 02, 2012	Quiz	Quiz	5	5	100	A+					
Apr 04, 2012	Classwork	April 4	4	5	80	В					
Apr 16, 2012	Classwork	April 16	3	5	60	F	Walking around during lesson Talking during lesson				

Category Su	ummary	Total Points	Total Points		
Category	# of Asmts	Earned	Possible	Percentage	Letter Grade
Classwork	6	22	30	73.3%	С
Quiz	1	5	5	100%	A+
Project	1	10	10	100%	A+

14 of 24

Class: Technology 7 (Yr) 2

Final Grade		/		-				
Reporting Ter			ige Final	Grad	le Co	mment		
Marking Period	5 A+	98%						
Assignmen	t Scores			Pts.				
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment	
Mar 19, 2012	Classwork	March 19	5	5	100	A+		
Mar 21, 2012	Classwork	March 21	5	5	100	A+		
Mar 29, 2012	Classwork	March 29	5	5	100	A+		
Mar 29, 2012	Project	Innovation Project	10	10	100	A+		
Apr 02, 2012	Classwork	April 2	5	5	100	A+		
Apr 02, 2012	Quiz	Quiz	4	5	80	В		
Apr 04, 2012	Classwork	April 4	5	5	100	A+		
Apr 16, 2012	Classwork	April 16	5	5	100	A+		
Category Su		Total Points	Total Points		_			
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade	
Classwork	6	30	30		100%		A+	
Quiz	1	4	5		80%		В	
Project	1	10	10		100%		A+	

15 of 24

Class: Technology 7 (Yr) 2

Final Grade							
Reporting Te	rm Letter	Grade Percent	age Fina	I Grad	le Co	mment	
Marking Period	5 B+	- 89%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	4	5	80	В	Talking during lesson
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	4	5	80	В	
Apr 02, 2012	Quiz	Quiz	4	5	80	В	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	3	5	60	F	Walking around during lesson Talking during lesson Asked to sit in the cluster
Category S	ummary	Total Points	Total Points	s			

Category	# of Asmts	Earned	Possible	Percentage	Letter Grade
Classwork	6	26	30	86.6%	B+
Quiz	1	4	5	80%	В
Project	1	10	10	100%	A+

16 of 24

Class: Technology 7 (Yr) 2

Final Grade		/		-				
Reporting Ter		Grade Percenta	ige Final	Grac	le Co	mment		
Marking Period	5 A+	98%						
Assignment	t Scores			Pts.				
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment	
Mar 19, 2012	Classwork	March 19	5	5	100	A+		
Mar 21, 2012	Classwork	March 21	5	5	100	A+		
Mar 29, 2012	Classwork	March 29	5	5	100	A+		
Mar 29, 2012	Project	Innovation Project	10	10	100	A+		
Apr 02, 2012	Classwork	April 2	5	5	100	A+		
Apr 02, 2012	Quiz	Quiz	4	5	80	В		
Apr 04, 2012	Classwork	April 4	5	5	100	A+		
Apr 16, 2012	Classwork	April 16	5	5	100	A+		
Category Su		Total Points	Total Points					
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade	
Classwork	6	30	30		100%		A+	
Quiz	1	4	5		80%		В	
Project	1	10	10		100%		A+	

Class: Technology 7 (Yr) 2

Final Grade								
Reporting Ter			ige Final	Grac	le Co	mment		
Marking Period	5 A+	98%						
Assignmen	t Scores			Pts.				
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment	
Mar 19, 2012	Classwork	March 19	5	5	100	A+		
Mar 21, 2012	Classwork	March 21	5	5	100	A+		
Mar 29, 2012	Classwork	March 29	5	5	100	A+		
Mar 29, 2012	Project	Innovation Project	10	10	100	A+		
Apr 02, 2012	Classwork	April 2	4	5	80	В		
Apr 02, 2012	Quiz	Quiz	5	5	100	A+		
Apr 04, 2012	Classwork	April 4	5	5	100	A+		
Apr 16, 2012	Classwork	April 16	5	5	100	A+		
Category Su	ummary	Total Points	Total Points	5				
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade	
Classwork	6	29	30	ę	96.6%		A+	
Quiz	1	5	5		100%		A+	
Project	1	10	10		100%		A+	

18 of 24

Class: Technology 7 (Yr) 2

Final Grade	•									
Reporting Ter	rm Letter (Grade Percenta	ge Fina	l Grac	le Co	mment				
Marking Period										
Assignment Scores Pts.										
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment			
Mar 19, 2012	Classwork	March 19	5	5	100	A+				
Mar 21, 2012	Classwork	March 21	5	5	100	A+				
Mar 29, 2012	Classwork	March 29	5	5	100	A+				
Mar 29, 2012	Project	Innovation Project	10	10	100	A+				
Apr 02, 2012	Classwork	April 2	4	5	80	В				
Apr 02, 2012	Quiz	Quiz	5	5	100	A+				
Apr 04, 2012	Classwork	April 4	5	5	100	A+				
Apr 16, 2012	Classwork	April 16	4	5	80	В	Walking around during lesson			
Category S	ummary	Total Points	Total Points	5						
Category	# of Asmts	Earned	Possible	Per	centa	age Let	tter Grade			
Classwork	6	28	30	ç	93.3%		A			
Quiz	1	5	5		100%		A+			
Project	1	10	10		100%		A+			

19 of 24

Class: Technology 7 (Yr) 2

Final Grade											
Reporting Ter	rm Letter (Grade Percenta	ige Final	Grad	le Co	mment					
Marking Period 5 F 51%											
Assignment Scores Pts.											
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment				
Mar 19, 2012	Classwork	March 19	5	5	100	A+					
Mar 21, 2012	Classwork	March 21	0	5	0	ABS					
Mar 29, 2012	Classwork	March 29	0	5	0	ABS					
Mar 29, 2012	Project	Innovation Project	0	10	0	ABS					
Apr 02, 2012	Classwork	April 2	5	5	100	A+					
Apr 02, 2012	Quiz	Quiz	3	5	60	F					
Apr 04, 2012	Classwork	April 4	5	5	100	A+					
Apr 16, 2012	Classwork	April 16	5	5	100	A+					
Category S		Total Points	Total Points	-							
Category	# of Asmts	Earned	Possible	Per	centa	age Le	tter Grade				
Classwork	6	20	30	6	6.6%		D				
Quiz	1	3	5		60%		F				
Project	1	0	10		0%		F				

20 of 24

Class: Technology 7 (Yr) 2

Final Grade							
Reporting Ter	m Letter (Grade Percenta	ge Final	Grade	e Co	mment	
Marking Period	5 A	93%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	5	5	100	A+	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	4	5	80	В	
Apr 02, 2012	Quiz	Quiz	3	5	60	F	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	5	5	100	A+	
Category St	ummary	Total Points	Total Points	5			
Category	# of Asmts	Earned	Possible	Perc	enta	ige Le	tter Grade
Classwork	6	29	30	96	6.6%		A+
Quiz	1	3	5		60%		F
Project	1	10	10	1	00%		A+

21 of 24

Class: Technology 7 (Yr) 2

Final Grade									
Reporting Ter	m Letter (Grade Percenta	ge Final	Grac	le Co	mment			
Marking Period	5 A	91%							
Assignmen	Assignment Scores Pts.								
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment		
Mar 19, 2012	Classwork	March 19	5	5	100	A+			
Mar 21, 2012	Classwork	March 21	5	5	100	A+			
Mar 29, 2012	Classwork	March 29	5	5	100	A+			
Mar 29, 2012	Project	Innovation Project	8	10	80	В			
Apr 02, 2012	Classwork	April 2	4	5	80	В			
Apr 02, 2012	Quiz	Quiz	4	5	80	В			
Apr 04, 2012	Classwork	April 4	5	5	100	A+			
Apr 16, 2012	Classwork	April 16	5	5	100	A+			
Category So Category	ummary # of Asmts	Total Points Earned	Total Points Possible	-	centa	aae Le	tter Grade		
Classwork	6	29	30		6.6%	0	A+		
Quiz	1	4	5		80%		B		
Project	1	8	10		80%		В		

22 of 24

Class: Technology 7 (Yr) 2

Final Grade	;						
Reporting Te	rm Letter	Grade Percentag	ge Final	l Grad	le Co	mment	
Marking Period	15 A	93%					
Assignmen	t Scores			Pts.			
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment
Mar 19, 2012	Classwork	March 19	5	5	100	A+	
Mar 21, 2012	Classwork	March 21	5	5	100	A+	
Mar 29, 2012	Classwork	March 29	5	5	100	A+	
Mar 29, 2012	Project	Innovation Project	10	10	100	A+	
Apr 02, 2012	Classwork	April 2	5	5	100	A+	
Apr 02, 2012	Quiz	Quiz	4	5	80	В	
Apr 04, 2012	Classwork	April 4	5	5	100	A+	
Apr 16, 2012	Classwork	April 16	3	5	60	F	Talking during the lesson Asked to stop talking several times
Category S	ummary	Total Points	Total Points	5			

Category	# of Asmts	Earned	Possible	Percentage	Letter Grade
Classwork	6	28	30	93.3%	А
Quiz	1	4	5	80%	В
Project	1	10	10	100%	A+

Class: Technology 7 (Yr) 2

Final Grade					•				
Reporting Ter			ige Final	Grad	e Co	mment			
Marking Period	5 F	11%							
Assignmen	Assignment Scores Pts.								
Date	Category	Assignment	Score	Poss	%	Grade	Score Comment		
Mar 19, 2012	Classwork	March 19	5	5	100	A+			
Mar 21, 2012	Classwork	March 21	0	5	0	ABS			
Mar 29, 2012	Classwork	March 29	0	5	0	ABS			
Mar 29, 2012	Project	Innovation Project	0	10	0	ABS			
Apr 02, 2012	Classwork	April 2	0	5	0	ABS			
Apr 02, 2012	Quiz	Quiz	0	5	0	ABS			
Apr 04, 2012	Classwork	April 4	0	5	0	ABS			
Apr 16, 2012	Classwork	April 16	0	5	0	ABS			
Category S	ummary	Total Points	Total Points	5					
Category	# of Asmts	Earned	Possible	Perc	centa	age Le	tter Grade		
Classwork	6	5	30	1	6.6%		F		
Quiz	1	0	5		0%		F		
Project	1	0	10		0%		F		

24 of 24